
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

1, 501 × ________ = 15.01 9, 61 × ________ = 9610

9, 985 × ________ = 9985 6, 11 × ________ = 61.1

1, 358 × ________ = 1358 10, 798 × ________ = 10798

1, 314 × ________ = 1314 4, 889 × ________ = 4889

8, 603 × ________ = 8603 6, 957 × ________ = 6957

5, 108 × ________ = 510.8 2, 119 × ________ = 2119

2, 589 × ________ = 2589 9, 25 × ________ = 92.5

7, 027 × ________ = 7027 6, 095 × ________ = 60.95

3, 638 × ________ = 363.8 1, 963 × ________ = 196.3

5, 764 × ________ = 5764 8, 251 × ________ = 8251
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